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5 ¥ 7¥T gfedr ?i' @uel # &— 5. This question booklet is divided ing,

JUE-37 U Jyoa-5 two sections — Section-A gpg
Section-B.

frd @ Rt so weai @ I
¥ st & (vew % R

In Section-A, there are
100 objective type questions, out of
which any 50 questions are to b

R
f

answered ( each carrying 1 mark), 3

1 3F FyiRe ?‘)f vy & sfie First 50 an{swers will be evaluateg (

¥ & I 37 W gyT 50 IR by the computer in case more thap /
FT g? W FEIST FRT farar S0 quest_ion.s are answered. For

SO 1 WE 3 F 3T F4F 7 answering these darken the circle
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T Rt W TwR F BT/ whitener / liquid / blade / nail

TeeT ugref /| wiT / G e etc. on OMR-sheet, otherwise the
T IT-YIRTST § 9T ®I=r v result will be treated invalid.
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In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered (each carrying 2 mark.s}
Apart from these, there qre 8 Iong
answer type questions, out of
which any 4 questions are to be
answered (each carrying § marks).

. Use of any electronic appliances is
strictly prohibited.
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WYY - 3 ; gECTION - A
aqhTs v Objective Type Questions
v wemr 18 foow*m*mwﬁmﬁmw?ﬁfﬁﬁwwa?h
&#sowﬁim%rm#mgﬁwaaﬁma}omaﬁzwfa@w
FTI 50 x 1 = 50

Question NoS- 1 to 100 have four opﬁons, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMRsheet _ . 50x1=50
1. W y=2x +33mx%x 0 ot YEn B yEa

1.
A 3 | B -3

(© ) -3

1 |
3 .
The slope of the tangent to the curve y —2x° +3sinx at x=0 s

1

(ay 3 | B -3
© % O -3
2. @'ﬁﬁmr=_6cmmr%mmﬁqﬁaﬁ1ﬁa
(cm? fcm #) 2 -
(A) 10m - B 12x
€ 8= (D) 1l=

The rate of change of the area of a circle with respect to its radius
r(ihcmzjcm}atr=6cmis |

(A) 10=x ' B 12n=x

(C) 8n=n _ D) 1lm
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[ 121732,
af2 vt A 3tk BEEdT € A
A} P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0 |
(D) P(ANB)=P(A)+P(B)
If events A and B are independent theﬁ
(A) P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0
(D) P(ANB)=P(A)+P(B)
52 get Y A Y T T ¥ T eE Prpren H wiRwar

@ 5 ®
© =z o

The probability of drawing a king from a pack of 52 cards is

@ = B 5
© = | O

P(A)=1.P(B)=1, P(ANB)=1= P(B/A)=

@ 2 K 3
@ 5 ® 3
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6w o H 10 IR I0WN Jre 4, e : Fed 3 Y wifdma B
1)° 7
w " a(3) B cfz)

@ cu(3) o cy(3)

A coin is tossed 10 times. The probability of getting exactly six

heads is
| (18 /1N
w TG (5) . B °Cs Jl'f] .
1)8 71310
@ af3) o Gl
7 P[A}:-ifil, P(B]=1_51, pmu31=%=> p(ApB)z
4 .5
W 11 B) 17
7 9
© 11 [
8.  xy-a¢1 1 HHIHT &
(&) x=0 B) y=0 .
(€ z=0 " o wIwdEd
The equation of the xy-plane is |
¥ x=0 . B y=0
I[C] z=0 (D) none of these
9. z-Wiﬁ’ffaiﬁ—ﬂ-ﬁGﬂ'ﬂig
A) (1,0,1) B (0,0,1)
(C) (0,1,0) D) (0,0,0)
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10.

11.

12.

13.

. [ 121/327
The direction cosines of z-axi8 arc
(A (1,0,1) B (0,0,1)
(¢ (0,1,0) D) (0,0,0)
fargatt (4,3,7) 3 (1,-1,-8) F MR
(A) 13 (B) 15
) 12 D) 5.
The distance between the points (4, 3,7 )and (1,- 1, - 5)is
®Br 13 (B) 15
<c 12 D)y S
I(x+co&‘.2x)dx =
 Loginoxsd 1 ginox—L
(A) 2x51n2x+&—cos2x+c (B) 2xsm2x 4c032x+c
2 _

- x°  sin2x
(C) 2xsin2x+4cos2x+c \[B)/ 5t 5 +c
_[ex sin~ x +—— }dx =
- - 1—_x2
a) e .1.2 +c - (B e’ .sin x +cC

l1-x - '
(C) E.i.;_c : | (D) e”. cos ' x+c
_[ dx__ _ d

x(x+2)
1 X

X -

@A) loglmlte B) plelzl+e

-

(D) logl x+2 |+¢
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A 73
2
(B} %Biﬁﬁ -_4 0
@ ~5-sin 1X e
*(D] _g_ x24_a2 a2
v} ~-527-s_in1-'5--+c
| x/2 }
15.  [sin’xdx
-t]2
w -1
<1 o 2
16. ?T-G-—x o
dx+va-x dx .
(A) d
" B .g.
€ 2a “ s
. 3 (D) 3a
]?, Icostdx-
0
S JAr 0
© -1 o
18 " ’ o
. gcasx.cos2xdx=
_W 5/6
C} 5/12 o .
(D) -5/12

[ 1217327
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19. Jtanxdx:
A -1 Bl. 0
C) 2 D) -2
11
20. -
!7;‘ dx
Ay 2 B) =/6
(C) =/4 D) =/2
21. cos™ (—%] = {o,n) A __7}&
27 | .1
B 3 (B). 3
T ’ . -
(C) 6 - (D) 3
22. xe€|-1], 1],cos“1x=
(A) Z-cot” x (B) Z-sin™'x
\& %—t&n—lx : (D) %—sec“lx
23. xe[-1, 1],sin” (-x) =
JAY -sin"'x (B) sin"'x
(C) -cos'x (D) cos'x
24. cosec i X=....ccce. 3 x21 0Or S -1,
() sin” x By sin
(C) cos™ x - (D) .cos_ljlc-
24 /A /XI1I-5001-(34/40) Page 8 / *




25.

26.

27.

28.

29.

30.

(121/327 |

tan| tan-l% + tan™! '%1 -
@ @ O
c 2 D) 3
sin[r::::nt'l x)=
(A) 1+x2. B x
© (x> O =
- 1+th:2

f:ma'1 (cos —EE) =

7 5
® & B %

n: ' ~ -
—*Sm-l(-—‘-é—J=

| 2

@w 0 B =
(b]- -g— D) =
tan~! y3 —sec} (-2) = |
w X @
© Z | D)
ﬂﬁ?ﬁﬁqﬁ.agﬁﬂ y # R={(a,b):a=b-2,b>6} T wed €AY R B
fPraferfe & aft I 2
(A) (6, 8)eR B) (2,4)eR
© (38R @ (8 7R

Page 9 / 32
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t Ngi 1121/399,
Let R be the relation in the 8¢t T glven by R={(ﬂ.b]:a=b-—2.b>61. I
The correct answer in the following is
(A) * (6, 8)eR B)  (2,4)eR
(€) (3,8)R D)  (8,7)er
31. [—9x___
a® +x?
4) . Ltanl2 e (B) tan™'X .
a x a
1 -1 x _1_ -
© L'z, @ Luntiy
32. Isecxdx=
W log | secx+tanx|+ ¢ (B) . _'loglsecx-—tanx|+c_
© logmexte  © wmxec
33. Isecsx tanxdx =
(A)  Stan’x+ec (B) -é—secsx+c
@ Sloglesxive D) wn’x+c
34. ([tan®xdx=
(A.) tanx+x+e (B tanx-x+c
(@ cotxtx+e (D) cotx-x+c
35, cos2x d =
Icosgx.ainzx
(A} cotx-tanx+c (B) tanx-cotx+c
) cotx-tanx+e (D) -tanx+c

24/A/XI1-5001-ra4740)
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4
x +1
36. J-x2+l
A) F T€ (B) %—x+2tan"1x+c
. 1 . 1
(C) 2tan Xx+c (D) -"%—+x+2tan"'x+c
1-cos2x _
37. .[1+cosi2x dx =
(A) tanx+c (B) tanx+x+c
&y tanx-—x+c (D) —tanx+x+c
dx _
38. 2-3x
(&) -3log|2-3x|+c (B) P-'%-Iog|2—3x|+c
(C) ~-—log|2-3x|+c (D) 2tan'x* + ¢
39, Ixsdx='
1+x°
(A) tan™" xd}_ +c B) 4 tan"! x* +¢
CF ttanx'+c D) 2tan”x*4e
40, J'xexdx:
(A) e’ +c (B) x-1+c \
C) e*(x-1)+c (D e (x+1)+c
41. a_l2 -3 -1 -
afe A= [4. 6} a A
1 1 11
e 8
@) 1 1 B 1
6 12 | 6 12
4 87 4 8
© [6 12 P [—6 12]
Page 11 / 32
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42.

43.

(A)

(C)

-5 4]

17 4]

s 54 (B)
[—17 -4

“s5 Zé) (D)

[ 121]32?

17 4 | 17—
E 54] (B) _1; 52]
-17 -4 _
- 55 -6] (D) _;ég -51]
(2 J2 0
l 2 ?‘h A’:’.
3 -2 g],
(2 -3 | 2 3
2 2 - N
| 0 2/5} ”Eq [Jg 2/%]
T 3 2 . |
-2 J2 (D) 3 -2 2/5
-2/5 0 222 o

24/A/XI1I-5001 -(34/40)
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f2 J2 0
If A= 3 -2 % then A’::
5.
-2 -3
: , 2 3
w [V2 2} B |v2 -2
| 0 2/5 ®) 0 2/5]
5 ,/2 3 -2 2/5
C ~2 <2 -
© 1275 Yo ) [2 J2 o]
44. A% 2A+B+X=0, el A::E":; g]aﬁts=ﬁ *g]?h X=
: 1 2'. B L 2 '
(A) -7 -13]. (B) |7 13] _
_ (1 =2 ' ] ~2
© -7 -13] (D] 1 7 13]
If 24+B+X =0, where A=[‘“§ 2].and B=[? “‘*‘g] then X~
__ T 1 2] .M 2 -
W -7 -13) ® {7 13]
-1 -27 o [-1 -2
o |7 s o [ 33
45, {x y_]z[2x...1 Q ]:;
@ x=3,y=9 B x=1,y=9
€ x=0,y=9 D) x=3,y=4
46, %{'smzx}:-
- (A)  2sinx By sin2x
(C} cos2x (D) 2cosx
d
7. L35 4 coe2x )=
- (A} 5x*+sin 2x ®) 5x*+ cos2x
&5 5x*-2sin2x ' (D) x°+ 2sin2x

Page 13 / 32
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18,

49,

S0.

~ Sl.

S52.

1121 /3y,
-(%E( sec” x) =
1
] (B)- —L1 ___
(A) I B)- i {_xz—l
1
1 D) -—2L1__
© 1+x? . x¥x? -1
_Cl_‘(ax —
dx _
B8y a*loga (B) a*logx
) a* | (D) loga
—;—xlog(cosx}._:
(A) tan x @ - tan x
(C) cotx (D) -cotx.
et T x| LY dy)* Qﬁ—oaﬁ’rﬁﬁaﬂimi
M2 T ax) TYax T |
a) FR-2,w@=1 = @B ®WR=2u@-2
(€ wR=1,am@=2 D) M =1,°9@=1

The order and degree of the differential equation:
' 2

' dgy dy) dy . .

xy[ﬁ?} + x[ dx) ydx =0 is

W order = 2, degree = 1_ (B) order = 2, degree = 2
(C) order = 1, degree = 2 (D) order=1, degree = 1

dy .
mmﬁmw 4= +2y=sinx 1 FHHEH 0T

A) e* ‘ (B) &%*
(C} e?x (Dl e4x

24 /A/XI11-500 1-(34/40) Page 14 /
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The integrating factor of the differential equation % +2Yy=s8inx is8

@ € B &
42 e?* (D) e
53, AT FHIECT 32“‘-’“” w1 E &

'(M e*+eV=c B) e“+e’=c

© e +e¥=c (D) e *+e’=c
The solution of thé differential equation -cdl—%=ex Y is
(a) e*+e¥=c B) €e" +ez“’; =t

€ e*+el=c (D) e +e¥=c

dy_y .
54. aaarcfatﬁw.dx_; HET 8

(A) y=loglx|+c (B) y=cx

(C) y=xlog|x|+cx (D) y=log|x|+cx
The solution of differential equation j—z=% is

(A) y=log|x|+c B y=ex

(C)  y=xlog|x|+cx (D) y=log | x|+ cx

55. Jfqel GHIHWT %Jrzy:e“iﬁr AT T B

3x (B) ez-’f

(D) e**

(a) e
€ e _
The integrating factor of the differential equation %%+2y=ea" is

2x

@A) &+ B e

C) e | (D) e¥

24/A/XI1-5001-i34/40) Page 15 / 32




m LR L A A e [ 121/32?
- - — - =2 7
56. (4i +3j +3k).(6i-4]+k)=
A) 22 15
(C) 21 (D) 18
57. (71 +37 -2K)x (-1 +3k)=
AL97-7F +3% B) 9i+j-3k
© -7 +3k D) i+ -3k
S8. | i-j -k |=
NIV ) B) 3
C) V2 (D) 2
. 59. J.}) ]
@) o B1
) -1 D) Kk
60. kxj =
(A) —? (B) ]’
) o© D) &
- - - - - o - o o
61. ax(b+c)+bx(c+a)+cx[a+b)=
(A) 1 B 0
c - -1 (D) 3
- - -
62. i .(jxk)=
w B) O
c -1 1
e —

24 /A /XII-5001 -(34/40)
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2
1

(A) /e

+2k

_.*
direction of a is
v S
1+ j +k

(A) N3

- —

z+_;+2k
6

©

: ' l—) - —-) '
64. AW 3i+j -2k M T41] -3K wEw T A2

® -3
(€) _—9

+] +2¥?ﬁ3ﬁ&mﬁmmaﬁmﬁt

i+j+2k
B ==
% I
i+j+
P

e
®) :+_j/£-2k
2. E’
o) L=

(B) -6
D) -1

[121/327]

A
» then the corresponding unit vector a in the

If 3 i +_} 2k and :+l; Sk are perpendmular to each other

then the value of A = -

a4 -3
9 -9

65. I cot? xdx =

(A) cotx+x +k
(C) -cotx-x+k

- -
66. ufewi 27-37+2k M i+4j+5k S w RN R

B) -6
(D) -1
(B) -cotx+x+k

(D) cotx-x+k

(A) 30° ~(B) 90°
€) a5° (D) -60°
T ——

3

24 /A /XII-5001-(34/40)
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67.

[121/3,
i I AU

The angle between the vectors 21 =3 j+2k and i +4 j+s5j ;o
(&) 30° R
(C) 45° | D) 60°
la+3|=|a’_3|=>
. L. S
(A) la|=|b]| Bf allb

- - —
€© alb D) la|=0

. - - - oy
68. WRYW 47-47 47Kk WERW i-2j +k T A}

69.

70.

@A) 9 (B) 19/9
(C) 9/19 - (D) 19

The projection of the vector i —2 J +k on the vector 4i -4 j +7

is

A) o9 B) 19/9

(C) 9/19 . D) 19

Z=3x+5y T e 7 T8l =aly x +y <2, x20,y>0 2
(A) 16 (B) 15

© o | (D) Y B A

The minimum value of Z= 3x+5y subject to the constraints

where x +Y<2, x20,y20 is
A) 16
€ o

(B) 15

(D) none of these

Z=3x+ 2y*f3?ﬁmmwrg1'ﬁsmaﬁu'3x+ys 15, x20, y20 %
(A) 30 ’

B) 15
€ 10 (D) i & = Aft

24/A/XI1-500 1-(34/40) Page 18 /




71.

72.

73.

[ 121/327 )
The maximum value of Z = 3x + 2y subject to the constraints where
3x+Yy<15, x20, y>0 is
(A) 30 (B) 15
() 10 (D) none of these
A we [W@3f % R&F a1, m, n 34, my, n, F1 @ TH-ER R o

gt af

I m _n 1 m n

A) +=—-=— B —+2+1=0
L, mon (B) L mon

(C) 12+rr12+1r12:112 +m]2+;_112 (D) II]+mm1 +nn1=0

The direction ratios of two istraight lines are I, m, nand [, m, nn,.

The lines will be perpendicﬁlar to each other if

(A) %:ﬂzi | (B) -II+E_+£=O
1

mon L S
(C) Ig+m2+1|'12=l12 +r;112'-|—:r1,12 {9/ I, +mm; +nn =0

ot et Y1 % e g 1, 3, 5% @t Y@ #i Rp-Had g

1 1 1 1 3 _5
@ 535 Y A
5 3 _1_ D) T A
(C) 735 T55 75 (D) ¥ ¥ Hig &

The direction ratios of a straight line are 1, 3, 5. Then its direction

cosines are
1 1 1

1 3 5
_— o B — ———
(A) 9’3’5 wﬁg’ﬁ’ﬁ

(D) none of these

(©) 5 3 _L
J35° J35 V35

T 3x—Sy+4z=11 % THR T HI FHHT 2
(A) 3x-5y+4z=21 (B) 3x+5y+4z=25
(C) 3x+5y+4z=35 (D) 'ﬂﬁﬂﬂﬁfqﬁ

24 /A/XI11-5001-@a4/40) Page 19 / 32




74.

75.

76.

[ 121/327
The equation of the plane parallel to the plane 3x~-Sy+4z=11 i,

(C) 3x+5y+4z=35 (D) none of these
det 2x + y-22z=5 IR 3x-6y-22=7 ¥ ot &1 Hor }
f n '
(A) -g- B 7
(C) cos”(4/21) (D) cos‘1(16/'61)
The angle between two planes 2x + Y- 2z=5 and 3x-6y—2z=7is
® .
(A) - % | | (B)_ vy |
() cos}(4/21) (Df cos"}(16/61)

frg (2,1,-1) Fad x—2y+42=9 N 2

@ B @ 121
© 2 (D) w ¥ B A

The distance of the plane x-2y+4z=9 from the pok
(2,1,-1)is

13 13421
A 57 ® 1
(C) % (D) none of these

R QA 7 2x -4y +32=5 AR x+2y+rz=12 TER T B @ A =

A) -2 B) 2

(€ 3 (D) AP

If two planes 2x-4y+3z=5 and x+2y+Az=12 are mutud™
perpendicular to each other then A =

A) -2 . ®B) 2

(C) 3 (D) none of these —~

g

24 /A/XII-5001 -(34/40) Page 20 /°
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X3 y-4 | | f / |
a b o T

77! nﬁ —~ -‘E:.‘l-!ﬁ-:'
~=, £-4=2 G G AR
(A) Sa+3b+2c=g (B) a_b_c
5 3 2
(C) Sa=3b=2¢ (D) ﬂﬂﬂﬂf}iq‘gf
If the line = a ,H'_b_ £—= ig paralicl to the line % %:-g-,thcn
(A Sa+ 3b + 2C- 0 ,9_:_!?_-_-5_
U B) 2=3-3
(€) Sa=3b=2c (D) none of these
X=X y-y, z- .
78, WX 1@ a, L= b, L= czl, @ a,x+by+c,z+d=0 ¥ HURH
1
aa
a b c
(A) -&i-=-5;-=z_i- (B} a,x +by+cz=0

C) aa, +bb,+cc,=0 (D) ¥ AP T

x—xl= 3,.!-_1,‘&:;’;-{L
b. ¢

If the line is parallel to the plane

1

a,x+byy+c,z+d=0, then

a, b ¢
\V_L':T:L:E: (B) ax+by+c,z=0

(C) aa,+bb,+c,c,=0 (D) none of these

79. ap|* 2|8 P& x wmw
18 x 18 6
) 6 BY” £6
o -6 . D) 0O

24 /A/XII-5001-34/40) Page 21 / 32




If x 2 = 6 2 then X is equal to
18 x 18 6
A) 6 | . (B) =6
| ©) -6 D) o
80. -J-Jl—sian dx =
(A) sinx+cosx+c (B) sinx- ctfsx+c
(C) cos x—sinx+c (D) tanx~cotx+c
x 1 © )
81. X+ _
x-1 X
(A) 1 o B) O
< 2 ' > -1 |
82. Al +WiFM axb=2a+b ARMRA AN (2+3) %42
(4) 30 | B) 20
(C) 18 D) 15
If the operation * is defined as a*b=2a+ b, then (2 * 3 |+ 4
@) 30 | (B) 20
<18 D) 15
1 1 -2
83. 2 1 -3|=
1s 4 -9
A2 B 1
CL”0 |
M D) -1
3 -4 5
84, 1 1 -2} =
2 3 1
A 0
W B) 46
(C) - 46
D)y 1
24/A /% ey




ﬂ [121/327 ]
5 6
85. 5[7 8]=
A 32 330- . 25 30]
- A BL- [35 40
€ -355 4%_ 25 30]
| : : D) |25 40
86, f:A—-B mwﬁ‘ﬂﬂﬁ
W flacs B flA)=B
(© flAa)>B (D) T & i T
f: A— B will be an onto function, if |
B~ flA)cB B f)=B
© . f (A}:’B_‘ | (D) None of these
87. A=[a;],., T ¥ ey 2k
4 m=n | B) m<n
(C) .m>n D) AW
A=[“y ).xn 1S @ square matrix if
(A m=n - (B) m<n
©) m>n (D) none of these
T-3
88. | 5/[1 6 -4]~=
o
- [-3 -18 12] ~ [-3 -18 12]
A 5 30 -20 (B) 2 12 _—3]
| 2 12 -8 | 5 30 -20
r 0o -201 . '3 18 12
© |[-3 -18 "1z o |5 30 20]
2 12 -8] 2 12 8

24 /A/XI1-5001-34/40) - Page23 /32




E - | [ 121/39,

B . - 0 1
B 17 o (B) [0 1]
I . o 1 0
© (23l @ o 1]
90. AR A= [_31 "g] @ adjoint A =
2 5] 2 3]
@ |73 ® |1 5],
© g @ B}
If A= [_? _g] then adjoint A =
w 33 ® |73
o B e [}
91. f;lqg(secx+tanx]=_
(A) sec+1tanx \@/ sec x
€ tanx (D)  secx+ tanx
92. %( sec™ x + coseclx) =
A 1. By o
(€C) 2 ' D) -1
' _tan-lf1l—cOs Xx d
@ 1 B) -1
1 .
@ 2z O -2 -

24/A/XI11-5001 ~(34/40) Page 24 /




0

If =tan“‘(1-cosx

dx
@A) 1
) (B) -1
< 3 |
2 1
B -3
94, ' 'ﬂﬁ'x= asece,y=b-mnemﬂ=
dx
b .
A —-
(A) asece (B) %cosece'
' b
@ geote o 2
. - a
| TJH:"_’ a sec 6, y=' b tan 0 then dy _
b : .
(A)  Zsece B %cusecﬁ
©  2coto D L3
-_95- 'qﬁ y=1] sihx+;; sinx+1f Sinx+... co dh ?ﬁ'%—z—=
A) - sinx B cos x s
@) 2y -1 - | () y-1
Ccl  cosx | D) 1
© 2y -1 ) 2y-1

' - Menxsds d
If y=Jsinx+ sinx+ﬁmx-i—_...tom then E%=

) sinx | -~ (B) Sosx
W 2y-1 - y-1

| 1
() Lcosx (D) S

2y-1

[ 121/327 ]
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2
96. TR y=x0 i .EL%.:
dx
(A) x!8 (B) 20x'?
19
(C) 380x'® D) x
2
If y=x20 then .g_g-=
dx _ .
(A)  x'8 (B) 20x'°
(C) 380x'® D):  x"
97. IJ 1+cos2x dx =
(A) 2 cosx+c (B) 2 sinx+ec
© 24c (D) V2sinX+c
x“ - 2
o8, [loBX., .
X
(A)  Sllogx)+c (B) -L(logxP+e
2 - 2
© Ze+e O -Zsc
COSy X
99. dx =
=
(A)  2sinVx +c B) sindx +c
(C) cosdx+c (D) 2cosVx +¢
100. IJcosx . 8inxdx= .
(A) %(cosx,ﬁim +c (B) . -—%(coax]‘?'m te
€ (comx]’/* +e (D) l' ~(cosx)*/? + ¢
24/A/XI11-5001-ta4/40 Page 26
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\ @Y - ¥ / SECTION - B
. ™ Y¥ / Short Answer Type Questions
v et 18 30 T g Ie¥r &) g @ Frat 15 wvt & Iww &1 9w T

*ﬁ?z@f‘cﬁ'ﬁﬁfﬁ??f 15 x2 =30

Question Nf)s. 1 to. 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2=30

1. If¢ y=sin( @ dy

D y (xyl i freret ) | 2
If y=sin(xy) then find _gﬁ

' . X

2, FAHE B : [(x+2)? dx. 2
Integrate : j[x+2]2 dx.

3. P(AUB) ¥@ fifmaf 2p(4)=P(B)=> 3R P(a/B)=Z. 2
Evaluate P(AUB) if 2P(A)=P(B)=7} and P(A/B)=2,

4, FRg= % 4(cot”'3+cot™2)=n. 2
Prove that 4(cot ! 3+cot™ 2) =x.

5. gl fe taﬁ‘lx+tan"ly:tan_lfc—‘--'.%. ' .2
Prove that tan' x+tan’ y—-:tanhl _13'5_'*‘{-1_

_ - Xy
_ /_- 7 ot 9Y g =) '

_t’j( e y=y sinx a}dxm , 2
Find i;_i’. if y=4 sinx” . |

7, fog 3R gor T R AR £ (x)=8x° W g(x) =x'/° 2
Find fog and gof if f(x]=8x3and glx)=x'3,
‘ T

8. WRW 57437 +4k I 6i-8] —k % &= = H0 7 FY 2

-3

i ? .22 - -
Find the angle between the vectors 5i1+3 j +4k and 6i-8 j - k.
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»10.

11.

12.

13.

14.

Maximize Z=20x+3y, subject to 3x+2y<210, x20,

ﬁ: 2-(!-'!=
A X dx 2y .

Solve : x23¥ —oxy .
ve xdx Q;y

1 1 1 .
a®® |a b c|FARTE@HU
1 1 1
Evaluate. the determinant{a b c¢|.
a3 b3 c3

2 -2
1 -2 -

Ry A=[—1 3 _1],?hf%|zﬁﬁ= A2=A.

2 -2 -4 5
If A={-1 3 4|, show that A"=A.
1 ~2 -

ﬂﬁ’xcosy=sin(x+y) )| %—% et

If xcosy=sin(x+y), find %

tan™ —2% # sin” —2X_ % WNW TEE W

l1-x 1+x

1 2x

l-x

'ﬂﬁ x=J1+t2 , y=J1-t2 W % ﬁ‘ﬂﬁl

If x=J1+t2 , y-—-“l—t2 then find %xa

Differentiate tan- s with respect to sin ! —2X_ -

[ 121f32?h

9. wftremiem w Z=20x+3y, T® 3x+2y<210, x20, y20. 2

y20.

24 /A/X11-5001-(34/40)
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—] % d
A6 TR y=x A e 2
If y =xsin,\:, find E-!_"_
x/2 ; - dx
17. X 31 2
g e LICRECa ]
_ A/2
Find the value of I dx i
: o l+vtanx _
a
18 [Ja?—x% dax %1 ety 2
0
a
Find the value of _Haz ~x? dx.
_ 0
19. a1 x-2y+2z=6 3K 3x-6y+6z=2 % #i9 6t gft 7@ | 2
Find the distance between the planes x-2y+2z=6 and
3x-6y+6z=2, -
20. 3@ 99 1 THEU 3@ W REd x, y o z W W siaEve -
2,33 -4% 2
Find the equation of the plane whose intercepts on the axes of
X, Y, z are respectively 2, 3 and - 4. https://www.bsebstudy.com
x-1_yYy-2_ z+17 x+4 y+9 z_}
21. p® A @ R i g PR R =t5—=%
TR g 2
Find the value of p so that the lines x2—1=y;2=z-;17 and
x-2+-4 =y;9 =z; 1 .re mutually perpendicular.
22.  [cos®x.sinxdx F THHH BRI 2
Integrate Imsa x.sinxdx.
4 _
23. Ix ~1 4x %1 guETE - 92
x’+4

2

x°-1
Integrate Ix2+4 dx. .
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25.

29.

30.

[ 121/327 l
TRt Yoy, 2
Solve ; cdi—yﬁe
frer wiftrsan e ¥ Rorg wrer 7@ W 2
X, 0 1 2 3
I ey
p 1/8 | 3/8 3/8 1/8
! ——
Find the mean for the following probability distribution : —
X; 0 1 2 3
j . 1/8 3/8 3/8 1/8

P .
oM a=i- ]'+kamb-2:+;+3ka‘r| a + b [ A I H|

2
- e A | C =) - - -
If a=i<j+k and b= 2i+j +3k then find the value of
- 9. '
| a + b | . -
- A o
gfewr 3i-4j +12k & Rp-FHsamd Fer 2

: -
Find the direction cosines of the vector 3i -4 j +12 E’ .

Af2

Ixcosxdx 'ﬂﬂﬂﬁﬁ!ﬁl y)
4 .
A2
Find the value of. Ixcos-xdx.
3
Isin3 xdx Wmﬁl 9

Integrate J'ain3 xdx.
f dx T T HX) )
Jx+1+?x+2 :
' dx
Integrate .
g IJx+1+Jx+2

&\
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: AL Long A:_uwer- Type Questions
mm31ﬁ33ﬁd3ﬂﬁﬂmilmﬁ#%4mﬁ&:m?tm%
e 5 o Fratfe ¥

(1217327

| 4x5=20
Questmrl Nos. 31 to 38 are Long Answer Type questions. Answer any
9 questions. Each question carries 5 marks.

4x5=20
3 RE T sin L gt S st 16 .
g o 5 TSI 13tsin g5Tg -
Prove that sin' 2 4gin 1S ,gin 1167
at sin” = +sin” $r+sin” 22=7

n/2

32, WH I{E #H : Ilogc‘osxdx.
. D

r/2
Evaluate : Ilogt’:osx dx.
N " 0

33- F‘ﬁﬁ . [].“".'-l:z]‘3"%4’?":'(311_]xl

Solve : (l'l'xgl-g—'!—:--d-y:tan_lx. I

d : .
34« Ez- fF&ret, 919 (siny)* =(cos J;]y.

. Find %yc-’ when (siny)* =(cos x)¥.

l+a 1 1
35, O FARAFEA S| 1 1+b 1

. . _ 5
\ 11 l+c . .

l+a 1 1

Evaluate the determinant | 1 1+b 1
1 1 l4c|

- —-l' O R T - -
-.S/GK mmﬁﬁ;[i—aj+4kl-[(21-1)><[j+k]].

- = - ol -+ -
Evaluate : (i -3 Jj +4k). (QI“J]X(J'”C)].
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37. EadiE w Z=2x+y |
Jaf% 5x+10y <50, x:l—yzi, y<4,x20,y=20. - | S
Minimize Z=2x+yYy, | |
subject to 5x+10y <50 , x+y21,y<4 ,-xz'O, yz0.

| 38. AUE A TR F A FT A FH QA IR & 3 & S AR f 7y

iR | s

In four throﬁv;, with a pair of dice what 'is the probability of

occurrence of doublets twice at Iéaﬁt ?
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